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INSTRUCTIONS:

ANSWER ANY FOUR (4) QUESTIONS INCLUDING QUESTION NO. 1 AND 2.
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Answers for question No. 1 and 2 should be provided in the space given in the question
paper.
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1. (1) Explain why do you consider “Yala National Park™ as an ecosystem ?
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(II') Give two organisms found in “Yala National Park” for each of the following

categories.
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2. Primary consumers (8) ................ooviuiieeunineineiaiannnn,
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3. Secondary CONSWMETS (). ....ovvrueeeininiinsineeeaaeeeeeinnn,
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4. DecompoSers (@) ... ..oovriiin e,
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( IIT') a. What is meant by the term Primary Producti’vity?
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b. Compare “Net Primary Productivity” with “Gross primary Productivity”
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( IV') Explain the importance of Decomposers in an ecosystem with examples.
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(V) What would be the short term and long term impacts, if all the predators of Spotted

Deer (Leopard, Crocodiles etc..) are removed from the Yala National park.
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2.
(1) Draw a flow diagram of the Nitrogen Cycle to show all the major steps
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(1) Nitrogen should be in what form in the system so that it could be absorbed by

plants ? o s
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( III') Describe the process of biological fixation of Nitrogen
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(1V ) How Nitrogen enters into the Nitrogen Cycle and leaves from the Cycling process ?
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(V) What human acuvmes disturbed the balance of the Nitrogen pycle'7
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3. Organisms of an ecosystem interact with each other in many ways (eg. Parasite and the
host etc..), explain all such interactions in details.
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4. (1) “Pyramid of Biomass” gives more details of the functioning ecosystem than the
“pyramid of number”. Discuss this statement.
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(1) Explain how DDT can be found only low concentrations in the general
environment yet it occurs lethal levels in some of the animals of the same area.
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5. What is meant by succession and how does it leads to form a climax community.
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6. Write short notes on any two (2) of the following ~ ;oA
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